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Выберите один ответ:
0
-1
2
-3

2)
[image: http://iside-storage.distance.ru/img/questionEditor/2dc7ebba-d0fa-4fd2-a707-7a2f817e1c24.png]

Выберите один ответ:
-224
32
288
-46

3)
[image: http://iside-storage.distance.ru/img/questionEditor/bc555023-16db-403d-ab8d-f87686de5b48.png]

Выберите один ответ:
(3×3)
(4×1)
(2×3)
умножение данных матрицы невозможно


4)
[bookmark: _GoBack][image: C:\Users\nologon\Desktop\Новый точечный рисунок.bmp]
Выберите один ответ:
58
60
-24
-46

5)
[image: http://iside-storage.distance.ru/img/questionEditor/f9d2240f-ad03-48e0-a3ad-c3834ac7464e.png]

Выберите один ответ:
[image: http://iside-storage.distance.ru/img/ckeditor3/89c94e6a-d31e-47e6-bf1d-ea93dab13d8b.png]
[image: http://iside-storage.distance.ru/img/ckeditor2/9530582e-28a1-483c-9cbb-b194b304e067.png]
[image: http://iside-storage.distance.ru/img/ckeditor1/dcf64eb0-d628-4026-8aae-55efcc2c0c1a.png]
[image: http://iside-storage.distance.ru/img/ckeditor4/9befb2f0-7d26-47f9-a435-ba0633cfaad1.png]
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